
 

fzpjk;  1 juk; - 11 
 

 

vjpu;tUk; fy;tpg; nghJj; juhjug; gj;jpu rhjhuz jug;  

guPl;irf;Fj; Njhw;wTs;s khztu;fSf;fhd  

tpNrl ,lu;fhy nraw;wpl;lk; - 2021 

khjpup tpdhj;jhs; - II  
juk; - 11 Gs;spj;jpl;lk; fzpjk; - I 

gFjp - A 

01) 
8

100
 × 1200 .................................................................................................................................................... (1) 

= & 96 ........................................................................................................................................................ (1) 

02) 60 × 3 𝑘𝑚 ...................................................................................................................................................... (1) 

= 180 𝑘𝑚 ...................................................................................................................................................... (1) 

03) 𝐴′ ∩ 𝐵 .............................................................................................................................................................. (2) 

04) 𝑥 = 0   𝑜𝑟  𝑥 − 2 = 0 

        𝑥 = 2 .......................................................................................................................................... (1) 

jPu;Tfs; 𝑥 = 0, 2 ....................................................................................................................................... (1) 

05) 
1

3𝑥
+  

1

𝑥
 

=  
1+3

3𝑥
  ............................................................................................................................................................ (1) 

=  
4

3𝑥
 ................................................................................................................................................................. (1) 

06) 3𝑥 − 1 ≤ 8 

3𝑥 ≤ 9  

𝑥 ≤ 3 .............................................................................................................................................................. (1) 

epiw vz;fs; 1, 2 ................................................................................................................................... (1) 

07) 𝑣 = 𝑢 + 𝑎𝑡 

𝑎𝑡 = 𝑣 − 𝑢 ..................................................................................................................................................... (1) 

𝑡 =  
𝑣−𝑢

𝑎
  ........................................................................................................................................................ (1) 

08) log2 32 =  log2 25 

 =   5 ×  log2 2 .......................................................................................................................... (1) 

 =   5 × 1 

 =   5 ............................................................................................................................................. (1) 

09) 2𝑥2  =   2 × 𝑥 ×  𝑥 

3𝑥𝑦 = 3 × 𝑥 × 𝑦 ....................................................................................................................................... (1) 

ngh. k. rp = 2 × 3 × 𝑥 × 𝑥 ×  𝑦 

 =  6𝑥2𝑦  ............................................................................................................................. (1) 
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10) 
12 ×4 ×2

16
 ............................................................................................................................................................. (1) 

6 ehl;fs; ....................................................................................................................................................... (1) 

11) xUq;fpirAk; (Nfh. Nfh. g) .............................................................................................................. (2) 

12) Kf;Nfhz vz;fs; 1, 3, 6, 10 .......................................................................................................... (1) 

epfo;jfT =  
4

10
=  

2

5
.................................................................................................................................. (1) 

13) gug;gsT =  𝜋𝑟ℓ 

 =  
22

7
 × 6 × 21 ..................................................................................................................... (1) 

 = 396 𝑐𝑚2 .............................................................................................................................. (1) 

14) 𝐸𝐵̂𝐹 = 180° − 120° 

 = 60° ................................................................................................................................................. (1) 

/ 𝑥 = 180° − (60° + 55°) 

 = 65° ................................................................................................................................................. (1) 

15) 2 + 2𝑥 = 6 

𝑥 = 2 ............................................................................................................................................................... (1) 

−1 + 2 = 𝑦  

𝑦 = 1 ............................................................................................................................................................... (1) 

16) gbj;jpwd; (𝑚) =  
5−2

0−3
 

 =  
3

−3
 

 =  −1 .................................................................................................................... (1) 

ntl;Lj;Jz;L (𝐶) = 5 

/ rkd;ghL 𝑦 =  −𝑥 + 5 ....................................................................................................................... (1) 

17) sin 𝜃 =  
3

5
=  

6

10
 ............................................................................................................................................. (1) 

/ 𝐴𝐶 = 10 𝑐𝑚 ............................................................................................................................................ (1) 

18) 𝑥 =
80°

2
= 40° ............................................................................................................................................... (1) 

𝑦 = 50°  ........................................................................................................................................................ (1) 

19) (i) 1 𝑐𝑚 → 50000 𝑐𝑚 

 4 𝑐𝑚 → 200000 𝑐𝑚  

         → 2 𝑘𝑚 .................................................................................................................................... (1) 

(ii) 6 𝑐𝑚 ...................................................................................................................................................... (1) 

 
 
 



 

fzpjk;  3 juk; - 11 
 

 

20) 𝐸𝐵̂𝐶 = 90° − 60° 

 = 30° ................................................................................................................................................. (1) 

/ 𝐵𝐶̂𝐸 = 75° .............................................................................................................................................. (1) 

21) 12.52 −  7.52 

= (12.5 + 7.5) (12.5 − 7.5) ................................................................................................................... (1) 

= 20 × 5  

= 100 .............................................................................................................................................................. (1) 

22) 2𝑥 − 4𝑦 = 5 

𝑥 + 𝑦 = 1  

$l;l 3𝑥 − 3𝑦 = 6 ................................................................................................................................. (1) 

 𝑥 − 𝑦 = 2 ...................................................................................................................................... (1) 

23) fhy;tl;lg; gug;gsT 

=  
1

4
×

22

7
× 7 × 7 𝑐𝑚2  

= 38.5 𝑐𝑚2  

Kf;Nfhzg; gug;gsT 

=  
1

2
 × 7 × 7 𝑐𝑚2  

= 24.5 𝑐𝑚2  ................................................................................................................................................. (1) 

/ epow;wpa gFjpapd; gug;gsT = 38.5 − 24.5 ..................................................................... (1) 

 = 14 𝑐𝑚2 

24)  

 

 

jpirNfhs;   .................................................................................... (1) 

360° − 60°  

= 300°  ................................................................................. (1) 

 

25)  

 

 

  ............................................................................................ (2) 

 

(25 × 2 = 50 Gs;spfs;) 

  

t 

𝟑𝟎° 
fp 𝑨 

𝑩 

𝟔𝟎° 

t 

fpzW 

𝑷 

𝑸 
𝑹 
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gFjp - B 

01) (a) 
3

4
−  

1

2
 ×  

2

3
 

 =  
3

4
−  

1

3
 

 =  
9−4

12
 

 =  
5

12
  .................................................................................................................................................... (2) 

(b) (i) 1 −
1

3
 

  =  
2

3
 ............................................................................................................................................ (1) 

 (ii) 
2

3
 ×

3

5
 

  =  
2

5
 

  xU kfDf;Ff; fpilg;gJ =  
1

5
 ................................................................................... (2) 

 (iii) 
1

3
+  

2

5
 

  =  
5+6

15
 

  =  
11

15
 .......................................................................................................................................... (2) 

  kPjp =  
4

15
 ................................................................................................................................. (1) 

 (iv) ngWkjp =  
80000

4
 × 15 

   = & 300000 ................................................................................................. (2) 
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02) (i) 
14

2
= 7 𝑚 .............................................................................................................................................. (1) 

(ii) gug;gsT =  𝜋𝑟2 

  =  
22

7
 × 7 × 7 𝑚2 

  = 154 𝑚2 ..................................................................................................................... (2) 

(iii) gug;gsT = 720 − (100 + 154) 

  = 720 − 254 

  = 466 𝑚2 ..................................................................................................................... (3) 

(iv) mfyk; =  
180

24
 

  7.5 𝑚 .............................................................................................................................. (2) 
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  ...................................................................... (2) 
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03) (i) 
90°

360°
=  

1

4
 ............................................................................................................................................. (2) 

(ii) 
(360°−210°)

2
 

 =  
150°

2
................................................................................................................................................... (2) 

 = 75°  ................................................................................................................................................. (1) 

(iii) 
30

75°
 × 90° = 36 Ngu; ...................................................................................................................... (2) 

(iv) 
20

100
 × 30 

 = 6 Ngu; (15°) ............................................................................................................................... (2) 

 Nfhzk; = 75° + 15° = 90° ...................................................................................................... (1) 
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04) (i) 
45000

90
 

 = 500  ................................................................................................................................................ (2) 

(ii) & 5 × 500 

 = & 2500 ........................................................................................................................................ (2) 

(iii) & 
10000

500
 

 = & 20 ............................................................................................................................................. (2) 

(iv) nkhj;jg; gzk; = 2500 + 10000 + 7500 

  = & 20000 .............................................................................................. (1) 

 / tl;b  =  
12

100
 × 20000 × 2 

  = & 4800 ............................................................................................................... (2) 

 / nkh. gzk; = 20000 + 4800 

   = & 24800 .............................................................................................. (1) 
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𝟓 𝒎 

𝟓 𝒎 𝟓 𝒎 

𝟐𝟒 𝒎 

𝟑𝟎 𝒎 

𝟕. 𝟓 𝒎 𝟕. 𝟓 𝒎 
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05) (a) (i)   

   ........... (1) 

   (ii) 
20

36
=  

5

9
 ............................................. (1) 

   (iii) 
24

36
=  

2

3
 ............................................. (1) 

 

 

    ............. (2) 

 

 

 

(b) (i)  

 

 

    ............................................................................................ (1) 

 

 

 

 

 (ii)  

 

 

 

 

 

    .......................................................... (2) 

 

 (iii) (
7

10
 ×  

3

9
) +  (

3

10
 ×  

7

9
) 

  =  
21

90
+  

21

90
 

  =   
42

90
 

  =   
7

15
  ....................................................................................................................................... (2) 
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Mz; 

ngz; 3

10
 

7

10
  

Mz; 

ngz; 3

9
 

6

9
 

Mz; 

ngz; 2

9
 

7

9
 

Mz; 

ngz; 

3

10
 

7

10
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j
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Kjyhk; jlit  

 

      

      

      

      

      

      

𝑩𝟏 

𝑩𝟏 𝑩𝟐 𝑩𝟑 𝑩𝟒 𝑹𝟏 𝑹𝟐 

𝑩𝟐 

𝑩𝟑 

𝑩𝟒 

𝑹𝟏 

𝑹𝟐 

jiytu; njupT 

jiytu; njupT 
nrayhsu; njupT 
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fzpjk; - II 

gFjp - A 

01) (i) 
50000

25
 

 = 2000 ................................................................................................................................................ (2) 

(ii) & 3.50 × 2000 

 = & 7000 ........................................................................................................................................ (2) 

(iii) Kjy; khj tl;b  =  
12

100
 × 50000 ×  

1

2
 

   = & 3000 .................................................................................................. (2) 

 mLj;j 6 khj tl;b =  
12

100
 × 53000 ×  

1

2
 

   = & 3180 ............................................................................................. (2) 

 nkhj;j tl;b = & 3000 + & 3180 

   = & 6180 ...................................................................................................... (1) 

(iv) gq;Ffisf; nfhs;tdT nra;tJ rpwe;jJ. 

 fhuzk; gq;fpyhgkhdJ nkhj;j tl;bapYk; mjpfkhFk;. ...................................... (1) 
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02) (i) 𝑥 = 1 vdpy; 𝑦  = 02 − 5 

   =  −5 .................................................................................................................. (1) 

(ii)  

 

 

 

 

 

 

 

 

 

 

    .......... (3) 

 

 

 

 

 

−𝟒 

−𝟑 

−𝟐 

−𝟏 

𝟎 

𝟏 

𝟐 

𝟑 

𝟒 

𝟓 

−𝟏 −𝟐 −𝟑 −𝟒 𝟏 𝟐 𝟑 𝟒 𝟓 

𝟔 

𝒙 

𝒚 

−𝟓 
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(iii) (a) (1, −5) ...................................................................................................................................... (1) 

 (b) 1 < 𝑥 < 3.2 ............................................................................................................................ (2) 

 (c) −1.2,   3.2 ................................................................................................................................ (2) 

 (d)  𝑦 = 𝑥2 − 5 ........................................................................................................................... (1) 

10   

03) (i) 
1

2
 𝜋𝑥2 .................................................................................................................................................... (2) 

(ii) 
1

4
 𝜋(𝑥 + 1)2 ........................................................................................................................................ (2) 

(iii) 
1

2
  𝜋𝑥2 =  

1

4
 𝜋(𝑥 + 1)2 

  2𝑥2 =  𝑥2 + 2𝑥 + 1 

  𝑥2 − 2𝑥 − 1 = 0 ......................................................................................................................... (2) 

(iv) 𝑥2 − 2𝑥 = 1 

 𝑥2 − 2𝑥 + 1 = 1 + 1 

 (𝑥 − 1)2 = 2 ...................................................................................................................................... (2) 

 𝑥 − 1 = ±√2 

 𝑥 = 1 ± √2 

 𝑥 = 1 + 1.414 (𝑥 = 1 − √2 nghUe;jhJ) 

  = 2.4 (Kjyhk; jrk jhdj;jpw;F) ......................................................... (2) 

10  

04) (a) 
2

𝑥+1
−  

1

𝑥2−1
 

=  
2

𝑥+1
−

1

(𝑥−1) (𝑥+1)
  ....................................................................................................................... (2) 

=  
2𝑥−2−1

(𝑥−1) (𝑥+1)
  

=  
2𝑥−3

(𝑥−1) (𝑥+1)
  .................................................................................................................................... (2) 

(b) (i) 𝑥 + 𝑦 = 200______(1) 

  𝑥 − 30 = 𝑦 + 30 ................................................................................................................... (2) 

  𝑥 − 𝑦 = 60______(2) 

 (ii) (1) + (2) ⇒ 2𝑥 = 260 

     𝑥 = 130 ........................................................................................................... (1) 

  (1) ⇒ 𝑦 = 70 ......................................................................................................................... (1) 

  utp - & 130 ........................................................................................................................ (1) 

  fky; - & 70 ........................................................................................................................ (1) 
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05) (i) 30 − 40 ............................................................................................................................................... (1) 

(ii)  

ePsk; 

(𝑐𝑚) 

vz;zpf;if 

(𝑓) 
eLg; 

ngWkhdk; 
tpyfy; 

(𝑑) 
𝑓 × 𝑑 

00 − 10 4 05 −30 −120 

10 − 20 7 15 −20 −140 

20 − 30 9 25 −10 −90 

30 − 40 12 35  0 0 

40 − 50 6 45 10 60 

50 − 60 2 55 20 40 

 ∑𝑓 = 40.....(1) (1) (1) 
∑𝑓𝑑 = 100 − 350 

     =  −250............(2) 
 

  cz;ik ,il = vLnfhz;l ,il + tpyfy; ,il 

   = 35 +
−250

40
 ........................................................................ (1) 

   = 35 − 6.25 

   = 28.75 

   = 29 (KO vz;)  ......................................................... (1) 

(iii) (10 × 4) + (20 × 7) + (30 × 9) + (40 × 12) + (50 × 6) + (60 × 2) 

 = 40 + 140 + 270 + 480 + 300 + 120 

 = 1350 𝑐𝑚 

 = 13.5 𝑚 

 vdNt 13 𝑚 mjpfkhfhJ vDk; $w;iw Vw;f KbahJ. ........................................ (2) 

10  

06) (i) fdtsT = 𝜋𝑟2ℎ 

  = 𝜋 × 7 × 7 × 6 

  = 294 𝜋 ........................................................................................................................ (2) 

(ii) 5 ×
4

3
  𝜋 ×  𝑟3 = 294 𝜋  

          𝑟3 =  
294

20
× 3 ............................................................................................................ (2) 

          = 44.1 ................................................................................................................. (1) 

 / 𝑟 = √44.1
3

 ..................................................................................................................................... (1) 
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(iii) lg 𝑟 = 
1

3
lg 44.1 

  = 
1

3
 × 1.644 .......................................................................................................................... (1) 

  = 0.548 .................................................................................................................................. (1) 

 / 𝑟 = 3.474 

  = 3.5 𝑐𝑚 (Kjyhk; jrk jhdj;jpw;F) .................................................................... (2) 
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gFjp - B 

07) (a) (i) 𝑆𝑛 =  
𝑛

2
 (𝑎 + ℓ) 

 670 =  
𝑛

2
 (5 + 62) ............................................................................................................... (2) 

 𝑛 = 20 

 20 tisaq;fs; .................................................................................................................. (1) 

 (ii) 𝑎 + 19𝑑 = 62 

  5 + 19𝑑 = 62 

      19𝑑 = 57 

       𝑑 = 3 ........................................................................................................................... (2) 

(b) (i) 𝑎 = 18 ______(1) 

  𝑎𝑟3 =
2

3
 _____(2) .................................................................................................................... (1) 

  (2)/(1) 𝑟3 =
1

27
=  (

1

3
)

3

 

         𝑟 =  
1

3
 ...................................................................................................................... (2) 

 (ii) 𝑇6 = 𝑎𝑟5 

   = 18 ×  (
1

3
)

5

 

   = 18 ×
1

243
 

   = 
2

27
 ............................................................................................................................... (2) 
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08)   

  

 

 

 

 

 

 

   

(iv) Miu = 5 𝑐𝑚 .................................................................................................................................. (1) 
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09) (i) 𝐴𝐷̂𝐵  .................................................................................................................................................... (2) 

(ii) 90°  .................................................................................................................................................... (2) 

(iii) 𝐴𝐶̂𝐷  .................................................................................................................................................... (2) 

(iv) 𝑃𝐵̂𝐷 = 𝐵𝐶̂𝐷 (x. tp. J. Nfh)................................................................................................. (1) 

 𝑃𝐵̂𝐷 = 𝐵𝐷̂𝐶 (x.tp. Nfh> 𝐷𝐶//𝐵𝑄) ..................................................................................... (1) 

 / 𝐵𝐶 = 𝐵𝐷 ....................................................................................................................................... (2) 
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10) (i)  

 

 

   ................................................................................................................... (2) 

(ii) ∆𝐴𝐶𝐷 y; 

 sin 32°20′ =  
𝑃𝐶

150
 ........................................................... (1) 

 0.5348 =  
𝑃𝐶

150
 ................................................................. (1) 

 𝑃𝐶 = 80.22 𝑚 ........................................................... (1) 

  = 80 𝑚 (fpl;ba 𝑚y;) ................................... (2) 

(iii)  𝑃𝐵̂𝐶 = 45° (𝑃𝐶 = 𝑃𝐵) 

 / jpirNfhs; = 180° − 45° ..................................................................................................... (1) 

   = 135° .................................................................................................................. (2) 
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(2) 

(2) (2) 

(3) 

𝟕. 𝟓 𝒄𝒎 

𝑨 𝑩 

𝑪 

𝟔𝟎° 

𝟖 𝒄𝒎 

𝑨 

𝑩 

𝑪 

𝟖𝟎 𝒎 

𝟏𝟓𝟎 𝒎 
𝟑𝟐°𝟐𝟎′ 

𝑷 
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11) (a) (i) 45 − (12 + 10 + 9) 

 = 45 − 31 

 = 14 Ngu; ............................................................................................................................... (2) 

 (ii) 45 + 25 + 35 

  = 105 Ngu; ............................................................................................................................. (2) 

 (iii) 25 + 12 

  = 37 Ngu; ............................................................................................................................... (2) 

(b) (i) 𝑃(𝐴 ∩ 𝐵) = 𝑃(𝐴). 𝑃(𝐵) 

   =  
3

5
 ×  

2

5
 

   =  
6

25
 .................................................................................................................... (2) 

 (ii) 𝑃(𝐴 ∪ 𝐵) = 𝑃(𝐴) + 𝑃(𝐵) − 𝑃(𝐴 ∩ 𝐵) 

   =  
3

5
+  

2

5
−  

6

25
 

   =  
5+10−6

25
 

   =  
19

25
 .................................................................................................................... (2) 
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12) (i) 𝐷𝑄 = 𝑃𝐵 

 𝐷𝑄 − 𝑃𝑄 = 𝑃𝐵 − 𝑃𝑄 

 𝐷𝑃 = 𝑄𝐵............................................................................................................................................. (2) 

(ii) juT :- 𝐴𝐵𝐶𝐷 ,izfuk; .......................................................................................................... (1) 

 ep. Nt :- ∆ 𝐴𝐷𝑃 ≡ 𝐵𝐶𝑄 ............................................................................................................. (1) 

 epWty; :- ∆ fs; 𝐴𝐷𝑃, 𝐵𝐶𝑄 fspy; 

   𝐷𝑃 = 𝑄𝐵 (epWtg;gl;lJ) 

   𝐴𝐷̂𝑃 = 𝐶𝐵̂𝑄 (x.tp. Nfh> 𝐴𝐷//𝐵𝐶) 

   𝐴𝐷 = 𝐵𝐶 (vjp. gf;) 

   / ∆ 𝐴𝐷𝑃 ≡ ∆ 𝐵𝐶𝑄 (g. Nfh. g) ....................................................................... (3) 

(iii) 𝐷𝑃̂𝐴 = 𝐶𝑄̂𝐵 

 / 𝐴𝑃̂𝑄 = 𝐶𝑄̂𝑃 

 / 𝐴𝑃//𝐶𝑄 (x.tp. Nfh. rkk;) 

 Mdhy; 𝐴𝑃 = 𝐶𝑄 

 / 𝐴𝑄𝐶𝑃 Xu; ,izfuk; 

   (xU Nrhb vjp. gf;. rkDk; rkhe;juKk;) ...................................... (3) 
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